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SSC CHSL Practice Set3

PART-1
GENERAL INTELLIGENCE

Directions (1-8) : In each of
the following questions, select the
related word/letter/number
from the given alternatives.

1. Natural : Artificial :; Cotton

Y

(1) Wool (2] Nylon

(3] Silk [4) Jute
2, Crime : Punishment :: Hon-

esty 7

(1) Award

(2) Recognition

(3) Reward {4} Pride
3. VOHA : WPIB = CJgX : 7

11 DERY (2] YRED

(3) RKDY {4) YDKR

4. PRINTING : RPNIITGN :: PRO-
TOCOL - 7
(1} RPTOCOOL
12) RPOTCOLO
(3] PRTOOCOL
4) RPTOCOLO
5.20: 101 102:7
()52 (2] 49
(3) 61 ={4] 96
6. 6415 : 5304 :: TEOG - 7
(1) 6705 (2) 6205
[3) 6207 (4] 6785
Directions (7-11) : In each
of the following questions, find the
odd words fnumbers fletters from the
given alternatives,
7. (1) Anthropology
(2) Psychology
[3) Taxology
[4) Seciology
8.(1) Time : Seconds
{2) Pressure : Barometer

[3) Length : Metre

4] Volume : Litre
8.(1)56 (2] 28

(3) 38 (4) 35
10.(1)3:30 (2)5:128

13)8:515 (4)9: 731
11. (1) AFPLE (2) ANGLE

(3} ADORE  (4) AMPLE

12. Number of letlers skipped in
between adjacent letters in the
series increases by one. Which
of the lollowing series observes
the rule above ?

(1) CFTOV (2) HIHQV
(3)HCFKF (4] IKNRW

13. Which one of the given re-
sponses would be a meaning-
ful order of the following ?

{A) Ghee 1B) Milk
(C) Curd (D) Cow
(E) Butter

(1MED) (Al (B], (D), (C)
(2) (D). (B). (E) (C), (A)
(31 (D). (B) (C). (E). (A)
(4) (C). (B). (E). (D). (A)

14. Arrange the following words as
per order in the dictionary.
(A) Concession
(B) Conception
(C) Conciliator
(D) Conceive
(E} Concerned
(1) (D), (E) (S, (B), (A
(2) (D). (B), (E) IC], (A)

(3) (D). (Bl (E) (A). (C)
(4) (D), (C). (E) (B), (&)

15. Which one set of letters when
sequentially placed at the gaps
in the given letter serles shall
complete it ¥
a_Ca_ca_caa_

(1) caca (2) cacc

(3) caac (4) coca

Directions (16-18) : In cach
of the following questions, choose
the correct alternative from the giv-
en ones that will complete the se-
ries.

16. MNBA, OPDC, QRFE, ?

(1) STGH (2) STKH
(3) STKY (4) STHG
17.512, 256, 128, 7, 32, 16,8
(1) 52 (2)61
(3) 64 (4) 58
18. 30, 130, 630. 2
i1) 1260 (2) 3130
i3) 1030 (4) 3103

19. X is four years older than Y
who is twice as old as 7. " the
total ages of X, ¥ and Z be 34,
how old is X7
(1)8 (2) 10
(3)12 (4) 16

20. Pointing to Vinod, Radha said,
“His sister is my mother's only
daughter”. How 15 Radha re-
lated to Vinod ?

(1) Cousin (2] Daughter
3) Mother (4] Sister

21. Madhavi and Shalini are good
in Dramatics and Computer
Science. Anjana and Madhavi
are good in Computer Science
and Physics. Anjana, Purnima
and Nirmala are good in Phys-
ics and History. Nirmala and
Anjana are good in Physics and
Maths. Purnima and Shalini
are good in History and Dra-
matics,

Who is good in Physics, His-
tory and Dramatics 7

(1} Mirmala (2] Purnima
(3) Anjana (4] Shalini

22. From the given alternative
words, select the word which
can be formed using the let-
ters of the given word.
IMMEDIATELY
(1) DIALECT (2] LIMITED
(3) DIAMETER (4) DICTATE

23. From the given alternative
words, select the word which
cannot be formed using the
letters of given word,
TAMBOURINE
(1) EROMINATE
(2) OBTAINER
(3) BOATMAN  (4) MINARET

24. If alphabets are serially num-
bered, one of the answers giv-
en below has a meaningful
word hidden in it. Identify the
answer.

(1)5.18,5.8, 1,3, 5

(2)20.5.1,3.8.5, 18
(3)5.1,3,5, 208, 18
(4)18,5, 3.8 1.5, 20



25. If JOSEPH is coded as FKO-
ALD, then how GEORGE will
be coded in that code language?
(1) CADMNO (2) CAKNIT
(3) CAKNCA  (4) JAKINS

26. If BUILDING is coded as
41527596 and RIVER as
85308, what will be the code
for BRIDGE ?

.(1) 485067 (2) 485670
(2) 458760 (4) 485760

27. Following words are written in

a code language. Study them

carefully and find out the word

to the given code.

CAR-¢ad

SIT-nyk

WELL-ociyy

MAP-paf

Given code: dpayu

(1) CALL (2) CALM

(3) CART (4) CARE

28. An aeroplane covers a dis-
tance at a 340 kmph in 8
hours. To cover the same dis-

2
tance in 3

travel at what speed ?
(1) 660 km/hr
(2) 700 km/hr
(3) 680 km/hr
(4) 1020 km/hr

29. If '+’ means '+’; ‘=" means ‘+’;
‘X' means ‘-’ and '+’ means ‘x’,
then, 8+4-6+3x4="7°
(1)4 (2) 14
(3)28 (4),30

30. Some equations are solved on
the basis of a certain system.
Find the correct answer for the
unsolved equation on that
basis.
58 x 12 =4, 37 x96 =5,
11x20=2,42x12="7
(12 (2) 3
(3) 4 4) 5

31. Select the correct combination
of mathematical signs to re-
place * signs and to balance
the given equation
33*11*3*6=115
(1) +-x (2) x+-
(3)+ x ~ 4) - x =+
Directions (32 - 34) : In each

of the following questions, find the
missing number from the given re-

hours, it must

sponses.
32.72 44 68
91 ? 86
43 66 37

(1) 33 (2) 22

(3) 11 (4) 55
33.8 2 9

3 9 6

6 4 9

30 22 ?

(1)e3 (2) 24

(3) 52 (4) 12
34.8 3 12

2 3 6

4 3 3

4 3 ?

(1)5 (2) 6

3)7 (4) 15

35. Govind starts from his house
towards West. After walking a
distance of 25 metres he
turned towards right and
walked 10 metres. He then
turned left and moving a dis-
tance of 10 metres, turned to
his left again and walked 40
metres. He now turns to the
left and walks 5 metres. Final-
ly he turns to his left. In which
direction is he walking now ?
(1) North (2) South
(3) East (4) West

36. ‘A’ walks 10 metres in front
and 10 metres to the right.
Then every time turning to his
left, he walks 5, 15 and 15
metres respectively. How far is
he now from his starting
point?

(1) 5 metres (2) 10 metres

(3) 20 metres (4) 25 metres

Directions (37 - 38) : In each
of the following questions, one/two
statements are given followed by two
conclusions/assumptions, I and II.
You have to consider the statements
to be true, even if they seem to be
at variance from commonly known
facts. You are to decide which of the
given conclusions/assumptions can
definitely be drawn from the given
statements. Indicate your answer.

37. Statements

All cows are animals.

All deers are cows.

Conclusions

I. All deers are animals.

II. All animals are cows.

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusions I and II
follow.

(4) Neither conclusion I nor 11
follows.

38. Statement : Regular reading
: X of newspapers en-
harices one’s gen-

eral knowledge.

Assumptions

I. Newspaper contains a lot of
general knowledge.

II. Enhancement of general
knowledge enables success
in life.

(1) Only I is implicit

(2) Only 1 is implicit

(3) Both I and II are implicit

(4) Neither I nor II is implicit

39. Among the four answer figures,
which one can be formed from
the cut out pieces given below
in the question figure ?

Question Figure :

]
J70
7D

Answer Figures :

S

(1) (2) (3) 4)

40. Four positions of a dice are
given below. Identify the num-
ber at the bottom when top is

T <> <B >
1) e 2) 3
3) 2 @) 5

41. Find the number of triangles
in the given figure :

(1) 11 (2) 14

(3) 16 (4) 22 or more

Directions (42-43) : In each
of the following questions, identify
the diagram that best represents the
relationship among classes given
below.






